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a’— b% = (a — b) (a + b);

a® — b3 = (a — b) (a* + ab + b?);

a®+ b3 = (a + b) (a* — ab + b?);
a®+ 2ab + b? = (a + b)*%;

a’— 2ab + b% = (a — b)°.




4z° =(2z)°

9" =(3b%)’
25m° = (5m)’
64p°>  =(8p)°

0,04z° =(0,2z)’
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x> =25= (x)’=5"= (x-5)(x+5)
64x> —9 = (8x)° —=3° = (8x—3)(8x +3)
16x> =9y” = (4x)* —(3y)’ =
=(4x—-3y)4x+3y)
x® —4a* = (x’)° = (2a’)’ =
= (x> =2a*)(x’ +2a°)



8z =(22)°

27b° = (3b)°
125m> = (5m)’
64p>  =(4p)

0,001z° =(0,1z)*
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125a° —8b° = (5a)° —(2b)’ =
= (5a—2b)(25a” +10ab + 4b*)

a® +27b° = (a’)’ + (3b)’ =
=(a’ +3b)a"* =3a’b+9b*)



(x-+2) =
=%+ %4+ 4

(x—y)" =
*—10y + *
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a’ —dab+4b* = (%-2. %f)é’m(zza)
= (a —2b)’

250> +20ab+4b° = (S5 2 2b + (26" =
= (5a + 2b)’



